SECTION-B

Q. 6.(a) A telephone company charges initially Rs.0.50 and then Rs. 0.11 for every minute. Write an  (5)
expression that gives the cost of a call that lasts N minutes.
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(b) Find the missing number in the series below (5)
(i)1,8,4,27,9, ? (ii) 3,6,8,16,18,? (ii1) 2, 8, 512,?
W FGITUDY,.COM (iv} BI ’g’& 18,?’12 (v) 6’ 1 1’ 2'!‘ 36!‘ 56! = WL FIETUDY. €O WA PRLTUDY.COM
(c)  The perimeter of the rectangle given below is 114 cm. Find the area of the rectangle. (5)
(3x-¥dcm
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(d) Ahmad stands at point D, 2m in front of a c (5)(20)
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facing the wall of a building which is E
10.5m away from him. How tall (BC) 1.6m
is his shadow on the wall of the building. B 105m D Im A
Q.7 (a) Aliisstanding 10 meters away from a tree. The distance of his eyes from his feet is 1.5 (5)
meter. Given that the distance from his eyes to the top of the tree is 15 meters, find the
height of the tree.
(b)m i Find out the correct word from the jumbled spellings given below. (5)
" LNUGEF, CKANS, CIREFE, EERAANMOGTP, MNIKPPU," """ <" N RRRTUDagH
(¢) Draw and write the total number of lines of symmetry ina regulﬂr hexagon and octagon. (5)

How many lines of symmetry are thero macnrc]e“’ - 'i 590
i |

(d) The height of the Egyptian p}ramld is 146.6 mcters anid a base length is 230.6 meters. Find  (5)(20)
the volume of that pyramid. ~' = - ~e\\OY
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Explain the logic in verbal expression as well
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Good answers overall!!
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Good answers overall!!




